A é @ ; bdn s6 thap phan, thir ty cac phép toan c6 dau ngoic

Tén: Ngay thang: _ Diém:_
25(6,8 +6,5)+5= 25(2,3-6)+5 =

6,7+3,94,9+2,3)= (2,9-3,3)x3,3+6,5=
(5,9—-4,2)x3,6—4,8= (3,2—-2)x2—-4,7=
(5,2+4,8)x4,9+4,8= (6+2—-2,5)x4=

4,4-5,8(6,4+2,4)= 2,8+2,5(3,5—-3,8)=
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A é @ ; bdn s6 thap phan, thir ty cac phép toan c6 dau ngoic

Tén: Ngay thang: _ Diém:_
25(6,8 +6,5)+5=066.5 25(2,3-6)+5=—185
6,7+3,94,9+2,3)=34.78 (2,9-3,3)x3,3+6,5=5.18
(5,9-4,2)x3,6—4,8=1.32 (3,2-2)x2—-4,7=-23
(5,2+4,8)x4,9+4,8=538 (6+2—-2,5)x4=2
4,4—5,8(6,4+2,4)=—46.64 2,8+2,53,5—-3,8)=2.05

www.snowmath.com


https://www.snowmath.com

